

ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global CMQS510 2-Pack		
CQS 1	2	QSCE8CP17	17" Mesh Jumper	\$ 120.00	\$240.00
2	1	QSCE8FR1	72" Long, Reversible Floor Power Entry, Front Fed, 72" Long, Floor Power Entry, Side Fed, Snaps into Side of Power Distribution Housing	\$ 347.00	\$347.00
3	1	QSCE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$33.00
4	1	QSCE8RD2	Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$33.00
5	1	QSCE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$33.00
6	1	QSCE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$33.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
7	3	QSCHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$150.00
			Skipped Option		
8	3	QSCHC15R	15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$150.00
			Skipped Option		
9	1	QSCHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$22.00
			Skinned Option		
10	2	QSCHFB1	Skipped Option Flat Bracket (Available in Black Only)	\$ 21.00	\$42.00
11	1	QSCHP42-3	42"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 101.00	\$101.00
			Skipped Option		
12	4	QSCHPBF	Pedestal Bracket/ Filler	\$ 60.00	\$240.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
13	3	QSCMET42	42"h, End of Run Trim Insert for Panel	\$ 21.00	\$63.00
			Skipped Option		
14	1	QSCMFM4224P2	42"h x 24"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 519.00	\$519.00
			Skipped Option		
			01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
15	3	QSCMFM4236N0	42"h x 36"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 447.00	\$1,341.00
			Skipped Option		
			01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
16	1	QSCMFM4236P1	42"h x 36"w, Monolithic Fabric Panel, Power Harness,	\$ 665.00	\$665.00
			Raceway Cover No Punch, Raceway Cover with Punch		·
			Skipped Option		
			01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
17	1	QSCMFM4248P2	42"h x 48"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 764.00	\$764.00
			Skipped Option		
			01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
18	1	QSCMPSEG1224	12"h x 24"w, Integrated Privacy Panel, Glass, Top Rail Sits Over Compile Top Trim	\$ 264.00	\$264.00
			Skipped Option		
			CLR Clear Glazed		
19	4	QSCMPSEG1236	12"h x 36"w, Integrated Privacy Panel, Glass, Top Rail Sits Over Compile Top Trim	\$ 306.00	\$1,224.00
			Skipped Option		
			CLR Clear Glazed		
20	1	QSCMPSEG1248	12"h x 48"w, Integrated Privacy Panel, Glass, Top Rail Sits Over Compile Top Trim	\$ 339.00	\$339.00
			Skipped Option		
			CLR Clear Glazed		
21	8	QSCMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$136.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
22	2	QSCS1923BBF	23" d, B/B/F Pedestal, Worksurface Supporting	\$ 565.00	\$1,130.00
			Skipped Option		
			Skipped Option		
23	2	QSCS1923FF	23" d, F/F Pedestal, Worksurface Supporting	\$ 565.00	\$1,130.00
23	2	Q303192311		φ 303.00	φ1,130.00
			Skipped Option		
			Skipped Option		
0.4	•	00000004405	48"w x 24"d, Rectangular Worksurface with 3mm PVC Edge	4 050 00	0540.00
24	2	QSCWS2448P	Trim 1" Thick, Std with 2 Scoops	\$ 258.00	\$516.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
	_	0001/00/1707	72"w x 24"d, Rectangular Worksurface with 3mm PVC Edge	.	4=4.44
25	2	QSCWS2472P	Trim 1" Thick, Std with 2 Scoops	\$ 367.00	\$734.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
			ALIAC CURTOTAL . \$ 40.240.00		

ALIAS SUBTOTAL: \$ 10,249.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global CMQS510 4-Pack		
cqs 26	4	QSCE8CP17	17" Mesh Jumper	\$ 120.00	\$480.00
27	1	QSCE8FR1	72" Long, Reversible Floor Power Entry, Front Fed, 72" Long, Floor Power Entry, Side Fed, Snaps into Side of Power Distribution Housing	\$ 347.00	\$347.00
28	2	QSCE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$66.00
29	2	QSCE8RD2	Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$66.00
30	2	QSCE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$66.00
31	2	QSCE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$66.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
32	6	QSCHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$300.00
			Skipped Option		
33	6	QSCHC15R	15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$300.00
			Skipped Option		
34	2	QSCHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$44.00
			Skipped Option		
35	4	QSCHFB1	Flat Bracket (Available in Black Only)	\$ 21.00	\$84.00
36	1	QSCHP42-3	42"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 101.00	\$101.00
			Skipped Option		
37	1	QSCHP42-4	42"h, 4-Way, Universal Corner Post (With All Clips), No Post Trims, No Post Base Cap	\$ 82.00	\$82.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
38	6	QSCHPBF	Pedestal Bracket/ Filler	\$ 60.00	\$360.00
			Skipped Option		
39	5	QSCMET42	42"h, End of Run Trim Insert for Panel	\$ 21.00	\$105.00
			Skipped Option		
40	2	QSCMFM4224P2	42"h x 24"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 519.00	\$1,038.00
			Skipped Option		
			01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1 Skipped Option		
41	7	QSCMFM4236N0	42"h x 36"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 447.00	\$3,129.00
			Skipped Option		
			01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
42	1	QSCMFM4236P1	Skipped Option 42"h x 36"w, Monolithic Fabric Panel, Power Harness, Raceway Cover No Punch, Raceway Cover with Punch	\$ 665.00	\$665.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
43	2	QSCMFM4248P2	42"h x 48"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 764.00	\$1,528.00
			Skipped Option		
			O1 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
44	2	QSCMPSEG1224	12"h x 24"w, Integrated Privacy Panel, Glass, Top Rail Sits Over Compile Top Trim	\$ 264.00	\$528.00
			Skipped Option		
			CLR Clear Glazed		
45	8	QSCMPSEG1236	12"h x 36"w, Integrated Privacy Panel, Glass, Top Rail Sits Over Compile Top Trim	\$ 306.00	\$2,448.00
			Skipped Option		
			CLR Clear Glazed		
46	2	QSCMPSEG1248	12"h x 48"w, Integrated Privacy Panel, Glass, Top Rail Sits Over Compile Top Trim	\$ 339.00	\$678.00
			Skipped Option CLR Clear Glazed		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
47	14	QSCMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$238.00
			Skipped Option		
48	4	QSCS1923BBF	23" d, B/B/F Pedestal, Worksurface Supporting	\$ 565.00	\$2,260.00
		•			. ,
			Skipped Option		
			Skipped Option		
49	4	QSCS1923FF	23" d, F/F Pedestal, Worksurface Supporting	\$ 565.00	\$2,260.00
	•	4000.020.1		¥ 000.00	4 =,=00.00
			Skipped Option		
			Skipped Option		
50	4	QSCWS2448P	48"w x 24"d, Rectangular Worksurface with 3mm PVC Edge	\$ 258.00	\$1,032.00
00	•	Q001101	Trim 1" Thick, Std with 2 Scoops	¥ 200.00	Ų 1,00 <u>2</u> 100
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option Skipped Option		
			Skipped Option Skipped Option		
51	4	QSCWS2472P	72"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 367.00	\$1,468.00
			Time Fines, old with 2 ocoops		
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		



ITEM QTY. PRODUCT CODE LIST EXTENDED

ALIAS SUBTOTAL: \$ 19,739.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global CMQS510 6-Pack		
CQS 52	6	QSCE8CP17	17" Mesh Jumper	\$ 120.00	\$720.00
53	1	QSCE8FR1	72" Long, Reversible Floor Power Entry, Front Fed, 72" Long, Floor Power Entry, Side Fed, Snaps into Side of Power Distribution Housing	\$ 347.00	\$347.00
54	3	QSCE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$99.00
55	3	QSCE8RD2	Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$99.00
56	3	QSCE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$99.00
57	3	QSCE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$99.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
58	9	QSCHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$450.00
			Skipped Option		
59	9	QSCHC15R	15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$450.00
			Skipped Option		
60	3	QSCHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$66.00
			Skipped Option		
61	6	QSCHFB1	Flat Bracket (Available in Black Only)	\$ 21.00	\$126.00
62	1	QSCHP42-3	42"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 101.00	\$101.00
			Skipped Option		
63	2	QSCHP42-4	42"h, 4-Way, Universal Corner Post (With All Clips), No Post Trims, No Post Base Cap	\$ 82.00	\$164.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
64	8	QSCHPBF	Pedestal Bracket/ Filler	\$ 60.00	\$480.00
			Skipped Option		
65	7	QSCMET42	42"h, End of Run Trim Insert for Panel	\$ 21.00	\$147.00
				,	,
			Skipped Option		
66	3	QSCMFM4224P2	42"h x 24"w, Monolithic Fabric Panel, Power Harness,	\$ 519.00	\$1,557.00
		4 50	Raceway Cover With Punch (2)	¥ 0.0.00	¥ 1,001100
			Skipped Option		
			01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			O1 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
67	11	QSCMFM4236N0	42"h x 36"w, Monolithic Fabric Panel, Non-Powered, Raceway	\$ 447.00	\$4,917.00
			Cover No Punch (2)		
			Skipped Option		
			O1 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
68	1	QSCMFM4236P1	42"h x 36"w, Monolithic Fabric Panel, Power Harness, Raceway Cover No Punch, Raceway Cover with Punch	\$ 665.00	\$665.00
			, , ,		
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			O1 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
69	3	QSCMFM4248P2	42"h x 48"w, Monolithic Fabric Panel, Power Harnes: Raceway Cover With Punch (2)	s, \$ 764.00	\$2,292.00
			Skipped Option		
			O1 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			O1 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
70	3	QSCMPSEG1224	12"h x 24"w, Integrated Privacy Panel, Glass, Top Ra Over Compile Top Trim	il Sits \$ 264.00	\$792.00
			Skipped Option		
			CLR Clear Glazed		
71	12	QSCMPSEG1236	12"h x 36"w, Integrated Privacy Panel, Glass, Top Ra Over Compile Top Trim	il Sits \$ 306.00	\$3,672.00
			Skipped Option		
			CLR Clear Glazed		
72	3	QSCMPSEG1248	12"h x 48"w, Integrated Privacy Panel, Glass, Top Ra Over Compile Top Trim	il Sits \$ 339.00	\$1,017.00
			Skipped Option CLR Clear Glazed		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
73	20	QSCMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$340.00
			Older of Outlan		
			Skipped Option		
74	6	QSCS1923BBF	23" d, B/B/F Pedestal, Worksurface Supporting	\$ 565.00	\$3,390.00
			Skipped Option Skipped Option		
			оперед орион		
75	6	QSCS1923FF	23" d, F/F Pedestal, Worksurface Supporting	\$ 565.00	\$3,390.00
			Skipped Option		
			Skipped Option		
76	6	QSCWS2448P	48"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 258.00	\$1,548.00
			Till Tiller, Std with 2 Scoops		
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		
77	6	QSCWS2472P	72"w x 24"d, Rectangular Worksurface with 3mm PVC Edge	\$ 367.00	\$2,202.00
77	U	Q3CW32472F	Trim 1" Thick, Std with 2 Scoops	φ 307.00	Ψ2,202.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option Skipped Option		
			Зкіррев Орноп		



ITEM QTY. PRODUCT CODE LIST EXTENDED

ALIAS SUBTOTAL: \$ 29,229.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			Global CMQS510 8-Pack		
CQS 78	8	QSCE8CP17	17" Mesh Jumper	\$ 120.00	\$960.00
79	1	QSCE8FR1	72" Long, Reversible Floor Power Entry, Front Fed, 72" Long, Floor Power Entry, Side Fed, Snaps into Side of Power Distribution Housing	\$ 347.00	\$347.00
80	4	QSCE8RD1	Utility Circuit #1, Duplex Receptacle	\$ 33.00	\$132.00
81	4	QSCE8RD2	Utility Circuit #2, Duplex Receptacle	\$ 33.00	\$132.00
82	4	QSCE8RDA	Dedicated Circuit A, Duplex Receptacle	\$ 33.00	\$132.00
83	4	QSCE8RDB	Dedicated Circuit B, Duplex Receptacle	\$ 33.00	\$132.00



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
84	12	QSCHC15L	15" Left Cantilever, Mounting Bracket Included	\$ 50.00	\$600.00
			Skipped Option		
85	12	QSCHC15R	15" Right Cantilever, Mounting Bracket Included	\$ 50.00	\$600.00
			Skipped Option		
86	4	QSCHCB2	Corner Bracket, Left and Right, Sold as a Pair	\$ 22.00	\$88.00
			Skipped Option		
87	8	QSCHFB1	Flat Bracket (Available in Black Only)	\$ 21.00	\$168.00
88	1	QSCHP42-3	42"h, 3-Way, Universal Corner Post (With All Clips), Post Trims, Post Base Cap	\$ 101.00	\$101.00
			Skipped Option		
89	3	QSCHP42-4	42"h, 4-Way, Universal Corner Post (With All Clips), No Post Trims, No Post Base Cap	\$ 82.00	\$246.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
90	10	QSCHPBF	Pedestal Bracket/ Filler	\$ 60.00	\$600.00
			Skipped Option		
91	9	QSCMET42	42"h, End of Run Trim Insert for Panel	\$ 21.00	\$189.00
				·	·
			Skipped Option		
92	4	QSCMFM4224P2	42"h x 24"w, Monolithic Fabric Panel, Power Harness,	\$ 519.00	\$2,076.00
32	7	QOCIVIT IVI4224F2	Raceway Cover With Punch (2)	ψ 513.00	Ψ2,070.00
			Skipped Option		
			01 Grade 1 Textiles - Outside Position 1		
			 Skipped Option01 Grade 1 Textiles - Inside Position 1		
			01 Grade 1 Textiles - Inside Position 1 Skipped Option		
93	15	QSCMFM4236N0	42"h x 36"w, Monolithic Fabric Panel, Non-Powered, Raceway Cover No Punch (2)	\$ 447.00	\$6,705.00
			Cover No Fuller (2)		
			Skipped Option		
			Skipped Option 01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
94		QSCMFM4236P1	42"h x 36"w, Monolithic Fabric Panel, Power Harness,	¢ cc= 00	¢cc= 00
94	1	Q3CIVIFIVI4230P1	Raceway Cover No Punch, Raceway Cover with Punch	\$ 665.00	\$665.00
			Skipped Option		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
			01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
95	4	QSCMFM4248P2	42"h x 48"w, Monolithic Fabric Panel, Power Harness, Raceway Cover With Punch (2)	\$ 764.00	\$3,056.00
			Skipped Option		
			01 Grade 1 Textiles - Outside Position 1		
			Skipped Option		
			01 Grade 1 Textiles - Inside Position 1		
			Skipped Option		
96	4	QSCMPSEG1224	12"h x 24"w, Integrated Privacy Panel, Glass, Top Rail Sits Over Compile Top Trim	\$ 264.00	\$1,056.00
			Skipped Option		
			CLR Clear Glazed		
97	16	QSCMPSEG1236	12"h x 36"w, Integrated Privacy Panel, Glass, Top Rail Sits Over Compile Top Trim	\$ 306.00	\$4,896.00
			Skipped Option		
			CLR Clear Glazed		
98	4	QSCMPSEG1248	12"h x 48"w, Integrated Privacy Panel, Glass, Top Rail Sits Over Compile Top Trim	\$ 339.00	\$1,356.00
			Skipped Option		
			CLR Clear Glazed		



ITEM	QTY.	PRODUCT CODE		LIST	EXTENDED
99	26	QSCMRCB01	Cutout Cover for Raceway Cutout Opening	\$ 17.00	\$442.00
			Skipped Option		
100	8	QSCS1923BBF	23" d, B/B/F Pedestal, Worksurface Supporting	\$ 565.00	\$4,520.00
			Skipped Option		
			Skipped Option		
101	8	QSCS1923FF	23" d, F/F Pedestal, Worksurface Supporting	\$ 565.00	\$4,520.00
				,	, ,,,
			Skipped Option		
			Skipped Option		
			48"w x 24"d, Rectangular Worksurface with 3mm PVC Edge		
102	8	QSCWS2448P	Trim 1" Thick, Std with 2 Scoops	\$ 258.00	\$2,064.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option Skipped Option		
			Skipped Option Skipped Option		
103	8	QSCWS2472P	72"w x 24"d, Rectangular Worksurface with 3mm PVC Edge Trim 1" Thick, Std with 2 Scoops	\$ 367.00	\$2,936.00
			LP Thermally Fused Laminates 1" Thickness		
			Skipped Option		
			Skipped Option		
			Skipped Option		



ITEM QTY. PRODUCT CODE LIST EXTENDED

ALIAS SUBTOTAL: \$ 38,719.00

TOTAL EXTENDED LIST: \$97,936.00